Get out your homework and check/correct your answers. Test on
Tuesday!

Classwork - Test Review #3

Mope  Y-INlErcept
1) Create an Equat::m that travels through the following two points (SHOW ALL WORK) +y

S
A) (-1, 5) and [1, -!:l B) (-2 ,MF C) (-6, 1) and (2,5}
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2) Match a table (A=D) with a graph (E=H) and an eguation (J-M). List your results below in four groups, where each
group contains one table, one graph, and one equation that all represent the same linear relationship. It may be helpful
to find the slope and y-intercept for the tables graphs and equations,

Group 1: Group 2: Giroup 3: Group 4:
Table: A Table: B Table: C Table: D
Graph: _,F:_ Graph: H Graph: @ Graph: E

Equation: |<. Equation: I Equation: =  Equation: L




3) Write an equation to show the total money, m, a plumber makes for working b hours if he charges a flat fee of 555 to
come to your house to investigate a problem and also 540 for each hours of work.

m = 4Y0h+55
4) Create an equation to model the tables below.
A) Slope: > 2
M x4 FL T _
X -6 ~Eu+¢ 2 & 10 Y-int: ([ ,~1)
y | -13 | -5efp 3 1 | 19 Equation: 4= 2 =
N R S )
=15, = -3 (= =3C) b
B Slope: _§ =~ =
) 45 5 4 &5 +5 H:I: +3 :;”i
x | 9 4 1 .5 § Y-int: (©, 1) Ty
y |4 26 11 -4 | -19 Equation: Yz ~3x+/{
— o/

m=2 b~ Ef"f}l'h

g-
= TELE P ope: ¥ 22yl bz-z4b
x 9 5 | -lefdo 3 7 Yint: (0,8 ) J-0 =5
: -1{}“ : N EH;I . ;rﬂ Equation: __Y = Zx ¢



%) Create a graph for the following equations. On your graph, SHOW how the numbers in the equation show up in the
graph. Bebow your equation, state what the numbers represent in the graph.

A) y=—2x+3 B) y=2x=3 € y==1x+4
Yz -x+f
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B} Find the equation of the line below. Show how the parts of your equation show up in the graph. SHOW ALL WORK
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7) A)Jim has a savings account, but now plans to save and deposit the same amount of money every month. After 6
months, he has saved up 5425, After 11 months, he has saved a total of 5755 dollars. Write an equation that models the
amount of dollars, . Jim has saved in his account as each month, x, passes. Hint: You are given two points the equalion
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B) Using your equation, determine how many months, x, it will take for lim to 5920,

970 = bbx +2§ =2 :j-.‘rzo

“Za____-29
AT _
e b X=13.5 monbhs >

C) Using your equation, determine the amount of dollars, v, Jim will have in his account after 8 months.
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g) Decide if the following equations have no solutions, one solutions, or infinite salutions.

Simplify the following equations and circle whether there is no solution (0], one solution (1), or infinitely many solutions (=),
A)bx—4=3(2z-1) -1 By =Sx+7=-2x-3x+10 C)5x—8=2x+10
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Circle one of these



9) At a volleyball game it costs students 53 and adults $6 to watch the game. In all, 5240 was made at the last
game, This can be represented by the function 3x + 6y = 240. Find the x- and y-intercepts. What do they

represent? SHOW WORK

Reminder

To find the x-intercept, solve for x when y is equal to 0.
To find the y-intercept, solve for v when x is equal to 0.

Define Variables:  x = number of _ S kdlen 3

Z+6l0) = 240

3= 2.0
2

3
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xintercept > (_8Q , _Q )

What does this point represent?

The are fo M‘f! anaf
o -l’.dhfh

y = number of dﬂ,ﬁ".ﬁ'

yintercept > (_O_, 40 )

What does this point represent?

The are O sfidenk and
Ho  nolw lts.



1) Write the following equations in slope intercept form. (y=mx + b))




Match the graph with the correction equation below. Then state the slope and y-intercept.

2) x = 2 Graph: Ei
widened h=MZA

3) ¥ = 2x Graph: ;
e Q5. O

4]y=]x+25raph: D
m = \ ”_Q=a

5)y= 2 Graph: Iq

m = O b= a

Graph A Graph B
& L ] |
-~

ol ————————————

P ———— - -
+ Y

Graph C Graph D

& &
\




&) Find the x- and y- intercepts of the following equations. Write the intercept as an ordered pair.

e s £ S 1t R B)3x+ 5y =15 C)=2x + 6y =12
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7) Tom and Hank both subscribe to the same magazine. There is a cost per magazine and a membership fee to
subscribe to the magazine. Tom has bought 12 magazines and paid a total of 530. Hank has spent a total
$37.50 and ordered 17 magazines. Write an equation in slope-intercept form that models the cost, v, for the
number of magazines, x, each person has purchased.

¥ =8 o Megadms m=
I Cost b

(\1 \ 3"-‘:-) Equation:

8) Match the following solutions with the systems of equations and graphs below. Write the correct number
or symbol in the space provided next to each system or graph. The letters and symbols can be found below.
One Solution < 1 No Solution < 0  Infinite Solutions < o
Ay =2x + 3 Bly=4x-5 Cy=x+8
y=2x+3 y=>5x—4 y=x-—2



9) Solve the following systems of equations by graphing. Write the solution as a ordered pair.

Aly =—-2x+ 4
1
y=3x-3

Solution

(— )

Bly=x+2
y=—=3x—2

Solution

(— )



10) Solve the following systems of equations algebraically. If there i1s one solution, write the solution as an
ordered pair.

Aly=3x-12 Bjy=7x+8 C)5x+ 10y =5
vy = bx v=4x—-7 y=-2x+5
Solution Solution Solution

(— ) () (— )




